
Name:_______________________________________________ Date:______________

Copyright © 2024 - 123TeachMe.com e328 1

Sentence Match Quiz for Category: present_ver 
Mark the sentence that matches each item below. 

1) Él ve al cocinero.
- A: I see a clock.
- B: I don't see more than two volcanoes.
- C: He sees the cook
- D: You see the birds.

2) Mira arriba, ¿ves ese avión allí?
- A: With much pleasure. I'll see you next week.
- B: Look up, see that plane over there?
- C: You guys see the cars.
- D: The man you see is a thief.

3) Tú ves a la bailarina.
- A: He sees the cook
- B: You guys see (watch) the TV.
- C: You see the dancer.
- D: We will meet in Retiro.

4) Yo veo al perro.
- A: I see the dog.
- B: He sees the cook
- C: Look up, see that plane over there?
- D: You see the dancer.

5) Nosotros vemos las nubes.
- A: You see the dancer.
- B: He sees the cook
- C: Look up, see that plane over there?
- D: We see the clouds.

6) Tú ves a los pájaros.
- A: You see the birds.
- B: He sees the cook
- C: I see the dog.
- D: He sees (watches) a movie.

7) El hombre que ves es un ladrón
- A: The man you see is a thief.
- B: They see the paintings.
- C: You see the dancer.
- D: Do you see the Capitol?

8) Ellas ven las esculturas.
- A: They see the sculptures.
- B: He sees the cook
- C: Look up, see that plane over there?
- D: With much pleasure. I'll see you next week.

9) Ellos y ellas ven las estrellas.
- A: They see the stars
- B: He sees the cook
- C: The men whom you see are bakers.
- D: You guys see (watch) the TV.
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(continued) Sentence Match Quiz for Category: present_ver 
Mark the sentence that matches each item below. 

10) Con mucho gusto. Nos vemos la semana entrante.
- A: With much pleasure. I'll see you next week.
- B: You see the trees.
- C: I see the dog.
- D: He sees the cook

11) Ellos ven los cuadros.
- A: They see the paintings.
- B: He sees the cook
- C: Look up, see that plane over there?
- D: I don't see more than two goblins.

12) No veo más que dos volcanes.
- A: Look up, see that plane over there?
- B: You see the dancer.
- C: He sees the cook
- D: I don't see more than two volcanoes.

13) Vosotros veis los coches.
- A: You guys see the cars.
- B: We will meet in Retiro.
- C: They see the stars
- D: She sees the girls

14) El perro ve el caballo.
- A: The dog sees the horse.
- B: Look up, see that plane over there?
- C: He sees the cook
- D: You guys see the cars.

15) Tú ves los árboles.
- A: You guys see (watch) the TV.
- B: You see the trees.
- C: Do you see the Capitol?
- D: He sees the cook

16) Los perros ven los caballos.
- A: But she is seeing the hotel beach.
- B: He sees the cook
- C: The dogs see the horses.
- D: You guys see (watch) the TV.

17) ¿Tú  ves el capitolio?
- A: Do you see the Capitol?
- B: The dogs see the horses.
- C: Look up, see that plane over there?
- D: You see the birds.

18) Vosotras veis la tele.
- A: You guys see (watch) the TV.
- B: Look up, see that plane over there?
- C: You see the dancer.
- D: He sees the cook
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(continued) Sentence Match Quiz for Category: present_ver 
Mark the sentence that matches each item below. 

19) Nosotros vemos televisión.
- A: She sees the kittens.
- B: You guys see (watch) the TV.
- C: We watch TV.
- D: I don't see more than two volcanoes.

20) Yo veo un reloj.
- A: You guys see (watch) the TV.
- B: I see a clock.
- C: They see the sculptures.
- D: He sees the cook

21) Él ve una película.
- A: I see the dog.
- B: He sees (watches) a movie.
- C: He sees the cook
- D: They see the sculptures.

22) ¿Qué número ve en la página?
- A: He sees the cook
- B: You see the dancer.
- C: Look up, see that plane over there?
- D: What number do you see on the page?

23) Ella ve la lluvia.
- A: With much pleasure. I'll see you next week.
- B: I see the mouse.
- C: She sees the rain
- D: He sees the cook

24) Cuanto más lo veo, más me gusta.
- A: The more I see him, the more I like him.
- B: Look up, see that plane over there?
- C: You see the dancer.
- D: I see a clock.

25) Nosotros nos vemos en el Retiro.
- A: We will meet in Retiro.
- B: She sees the girls
- C: The dogs see the horses.
- D: They see the stars

26) No veo más que dos duendes.
- A: I see the dog.
- B: I don't see more than two volcanoes.
- C: I don't see more than two goblins.
- D: He sees the cook

27) Los hombres a quienes ves son panaderos.
- A: He sees the cook
- B: The men whom you see are bakers.
- C: They see the sculptures.
- D: You see the birds.
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(continued) Sentence Match Quiz for Category: present_ver 
Mark the sentence that matches each item below. 

28) Pero ella ve la playa del hotel.
- A: But she is seeing the hotel beach.
- B: The more I see him, the more I like him.
- C: He sees the cook
- D: You guys see (watch) the TV.

29) Ella ve los gatitos.
- A: I don't see more than two volcanoes.
- B: We watch TV.
- C: You guys see (watch) the TV.
- D: She sees the kittens.

30) Pero, nosotros vemos la brújula.
- A: She sees the kittens.
- B: But, we are looking at the compass.
- C: You see the birds.
- D: He sees the cook

31) Ella ve a las niñas.
- A: What number do you see on the page?
- B: But, we are looking at the compass.
- C: She sees the girls
- D: He sees the cook

32) Yo veo al ratón.
- A: I see the mouse.
- B: They see the sculptures.
- C: He sees the cook
- D: I see the dog.
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Answer Key for Worksheet e328

Sentence Match Quiz starting on page 1
1 = C , 2 = B , 3 = C , 4 = A , 5 = D , 6 = A , 7 = A , 8 = A , 9 = A , 10 = A , 11 = A , 12 = D , 13 = A , 14 = A , 15 = B , 16 = C ,
17 = A , 18 = A , 19 = C , 20 = B , 21 = B , 22 = D , 23 = C , 24 = A , 25 = A , 26 = C , 27 = B , 28 = A , 29 = D , 30 = B , 31 =
C , 32 = A


